

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000001
 Roll No. 2551261471
 Regn. No. 25-DEO-1471

Name : SEEMA
 Father's Name : SURENDER
 Mother's Name : SUNANDA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	20 9	20AG	050	B+	7	02.0	14.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	20 9	20AG	050	B+	7	02.0	14.0
	TOTAL	0058		0100			4.0	028.0
	GRAND TOTAL	0058		0100			4.0	28.0

RESULT : PASSED AND HAS OBTAINED : SGPA 7.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000002
 Roll No. 2551261472
 Regn. No. 25-DEO-1472

Name : AMANDEEP KAUR
 Father's Name : BALDEV SINGH
 Mother's Name : JASVEER KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	30 13	20AG	050	O	10	02.0	20.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	30 13	20AG	050	O	10	02.0	20.0
	TOTAL	0086		0100			4.0	040.0
	GRAND TOTAL	0086		0100			4.0	40.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000003
 Roll No. 2551261473
 Regn. No. 25-DEO-1473

Name : ANKUR GARG
 Father's Name : BHARAT BHUSHAN
 Mother's Name : MAYA DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	30 14	20AG	050	O	10	02.0	20.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	30 14	20AG	050	O	10	02.0	20.0
	TOTAL	0088		0100			4.0	040.0
	GRAND TOTAL	0088		0100			4.0	40.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000004
 Roll No. 2551261474
 Regn. No. 25-DEO-1474

Name : VANSHIKA SANGROHA
 Father's Name : VIRENDER SINGH
 Mother's Name : BEANT KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	34 14	20AG	050	O	10	02.0	20.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	34 14	20AG	050	O	10	02.0	20.0
	TOTAL	0096		0100			4.0	040.0
	GRAND TOTAL	0096		0100			4.0	40.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000005
 Roll No. 2551261475
 Regn. No. 25-DEO-1475

Name : SATWIK ANSHU
 Father's Name : RAKESH KUMAR SINGH
 Mother's Name : PUSHPA SINGH
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	20 1	20AG	050	C	5	02.0	10.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	20 1	20AG	050	C	5	02.0	10.0
	TOTAL	0042		0100			4.0	020.0
	GRAND TOTAL	0042		0100			4.0	20.0

RESULT : PASSED AND HAS OBTAINED : SGPA 5.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

Name : POOJA
 Father's Name : ABHEY SINGH
 Mother's Name : SAROJ
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	30 10	20AG	050	A+	9	02.0	18.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	30 10	20AG	050	A+	9	02.0	18.0
	TOTAL	0080		0100			4.0	036.0
	GRAND TOTAL	0080		0100			4.0	36.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

Name : HARMAN VIRK
 Father's Name : BHUPINDER SINGH VIRK
 Mother's Name : NARINDER KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	27 14	20AG	050	A+	9	02.0	18.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	27 14	20AG	050	A+	9	02.0	18.0
	TOTAL	0082		0100			4.0	036.0
	GRAND TOTAL	0082		0100			4.0	36.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

Name : VIKAS KUMAR
 Father's Name : JAI KUMAR
 Mother's Name : PRIKSHA SHARMA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	29 5	20AG	050	A	8	02.0	16.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	29 5	20AG	050	A	8	02.0	16.0
	TOTAL	0068		0100			4.0	032.0
	GRAND TOTAL	0068		0100			4.0	32.0

RESULT : PASSED AND HAS OBTAINED : SGPA 8.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000009
 Roll No. 2551261480
 Regn. No. 25-DEO-1480

Name : NISHCHAY SAINI
 Father's Name : PREM PAL
 Mother's Name : KUSUM LATA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	27 13	20AG	050	A+	9	02.0	18.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	27 13	20AG	050	A+	9	02.0	18.0
	TOTAL	0080		0100			4.0	036.0
	GRAND TOTAL	0080		0100			4.0	36.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

Name : VISHAKHA
 Father's Name : DINESH KUMAR
 Mother's Name : BALESHE DEVI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	29 12	20AG	050	A+	9	02.0	18.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	29 12	20AG	050	A+	9	02.0	18.0
	TOTAL	0082		0100			4.0	036.0
	GRAND TOTAL	0082		0100			4.0	36.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026

KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000011
 Roll No. 2551261484
 Regn. No. 25-DEO-1484

Name : JAYANT SINGH
 Father's Name : SINGARA SINGH
 Mother's Name : BABLI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	29 13	20AG	050	A+	9	02.0	18.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	29 13	20AG	050	A+	9	02.0	18.0
	TOTAL	0084		0100			4.0	036.0
	GRAND TOTAL	0084		0100			4.0	36.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000012
 Roll No. 2551261485
 Regn. No. 25-DEO-1485

Name : JASBIR KAUR
 Father's Name : KULDEEP SINGH
 Mother's Name : SARANJEET KAUR
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	32 14	20AG	050	O	10	02.0	20.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	32 14	20AG	050	O	10	02.0	20.0
	TOTAL	0092		0100			4.0	040.0
	GRAND TOTAL	0092		0100			4.0	40.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)

CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

DMC No. 000013
 Roll No. 2551261486
 Regn. No. 25-DEO-1486

Name : NIKHILVIR SINGH
 Father's Name : VIVEK SINGH
 Mother's Name : RAJ RANI
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	34 12	20AG	050	O	10	02.0	20.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	34 12	20AG	050	O	10	02.0	20.0
	TOTAL	0092		0100			4.0	040.0
	GRAND TOTAL	0092		0100			4.0	40.0

RESULT : PASSED AND HAS OBTAINED : SGPA 10.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____

RESULT-cum-DETAILED MARKS CARD
 CERTIFICATE PROGRAMME IN FRENCH EXAM : JUN- 2025
 (CBCS-CDOE)

Name : VANSH
 Father's Name : VIRENDER
 Mother's Name : KAVITA
 Institute : CENTRE FOR DISTANCE & ONLINE EDUCATION KURUKSHETRA

DETAILS OF MARKS

Sr. No.	Subject	Marks Obtained	Minimum Pass Marks	Maximum Marks	Grade Letter	Grade Points	Credit	Credit Obtained
1	CPF-101 COMMUNICATIVE GRAMMAR	28 13	20AG	050	A+	9	02.0	18.0
2	CPF-102 TEXT COMPREHENSION & WRITTEN EXPRESSION	28 13	20AG	050	A+	9	02.0	18.0
	TOTAL	0082		0100			4.0	036.0
	GRAND TOTAL	0082		0100			4.0	36.0

RESULT : PASSED AND HAS OBTAINED : SGPA 9.00

DATED : JAN 22,2026
 KURUKSHETRA

Checked by 1. _____ 2. _____
 (Clerk) (Assistant)



CONTROLLER OF EXAMINATIONS

Data of issue _____